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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections
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Question ID : 678913727
Option 1 ID : 6789132905
Option 2 ID : 6789132906
Option 31D : 6789132908
Option 4 ID : 6789132907
Status : Answered
Chosen Option : 4
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Question ID : 678913793
Option 11D : 6789133171
Option 2 1D : 6789133172
Option 31D : 6789133170
Option 4 1D : 6789133169
Status : Answered
Chosen Option : 4
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Question ID : 678913718
Option 11D : 6789132871
Option 2 ID : 6789132870
Option 31D : 6789132872
Option 4 ID : 6789132869
Status : Answered
Chosen Option : 2
Q@4 The HCF of 112, 168 and 196 is:
Ans x 1. 4
X214
X3 7
4 28
Question ID : 678913705
Option 11D : 6789132817
Option 2 ID : 6789132819
Option 31D : 6789132818
Option 4 ID : 6789132820
Status : Answered
Chosen Option : 4
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Question ID : 678913704
Option 11D : 6789132814
Option 2 ID : 6789132816
Option 31D : 6789132815
Option 4 ID : 6789132813
Status : Answered
Chosen Option : 2

Ans X 1129117
v'2 129115
X 3129125

Q.6 3fy FROCK & T #1E & &7 & 61815311 fr@r =ar £, ar LIKE & e #ig Far gem?




X< 4129116

Ans xl ﬁ?ﬁ

Question ID : 678913731
Option 11D : 6789132923
Option 2 ID : 6789132921
Option 31D : 6789132924
Option 41D : 6789132922
Status : Answered
Chosen Option : 2
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Question ID : 678913732
Option 1 ID : 6789132928
Option 2 ID : 6789132925
Option 3 ID : 6789132927
Option 4 ID : 6789132926
Status : Not Answered
Chosen Option : --
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Question ID : 678913788
Option 11D : 6789133151
Option 21D : 6789133152
Option 31D : 6789133149
Option 41D : 6789133150
Status : Answered
Chosen Option : 3
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Chosen Option :

Question ID : 678913796
Option 11D : 6789133183
Option 2 ID : 6789133181
Option 31D : 6789133184
Option 4 ID : 6789133182
Status : Not Answered
Chosen Option : --
Q.1 Ifthe equations 6x -11y + 11 = 0 and 15x + ky-9 = 0 have no solution, then the value of k is:
0
ans X1 -22
X2 22
3 -275
X 4275
Question ID : 678913724
Option 11D : 6789132896
Option 2 ID : 6789132894
Option 3 ID : 6789132895
Option 4 ID : 6789132893
Status : Not Answered
Chosen Option : --
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Question ID : 678913783
Option 11D : 6789133132
Option 2 ID : 6789133129
Option 31D : 6789133130
Option 4 1D : 6789133131
Status : Not Answered

Ans

.1 . . " 5
@1 Density is the ratio of:

/< 1. mass * volume
X 2. volume / mass
& 3. mass + volume

v 4 mass / volume




Question ID : 678913769
Option 11D : 6789133073
Option 2 ID : 6789133075
Option 31D : 6789133076
Option 4 ID : 6789133074
Status : Answered
Chosen Option : 4

°3 Kinetic energy is given by:

Ans 1
2
1. —mu
v :
: 1
X2 —mv
2
3 1
X3 -mv?
2
X 4 Mgh
Question ID : 678913762
Option 11D : 6789133048
Option 2 ID : 6789133047
Option 3 ID : 6789133046
Option 4 ID : 6789133045
Status : Answered
Chosen Option: 1
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Question ID : 678913717
Option 11D : 6789132867
Option 2 ID : 6789132865
Option 31D : 6789132868
Option 4 ID : 6789132866
Status : Answered
Chosen Option : 2
Q.1




A palace maintains a private museum. The following table lists the number of visitors over a week.

Days No. of visitors to the museum
Monday 30
Tuesday 35
Wednesday 40
Thursday 35
Friday 40
Saturday 55
Sunday 45

What is the average number of visitors in a week?
Ans x 1. 30
X 2 43
v 3 40
X4 34

Question ID : 678913740
Option 11D : 6789132960
Option 2 ID : 6789132958
Option 31D : 6789132959
Option 4 ID : 6789132957
Status : Answered
Chosen Option : 3
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Question ID : 678913719
Option 11D : 6789132874
Option 2 ID : 6789132876
Option 31D : 6789132875
Option 4 ID : 6789132873
Status : Not Attempted and Marked For Review
Chosen Option : --
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Ans X 1491415518
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Question ID : 678913729
Option 11D : 6789132914
Option 2 ID : 6789132913
Option 31D : 6789132915
Option 4 ID : 6789132916
Status : Answered
Chosen Option: 2
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v 3 24D24U
X 4. 24C24U
Question ID : 678913738
Option 1 ID : 6789132952
Option 2 ID : 6789132951
Option 3 ID : 6789132949
Option 4 ID : 6789132950
Status : Answered
Chosen Option : 3
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Question ID : 678913733
Option 1 ID : 6789132932
Option 2 ID : 6789132929
Option 31D : 6789132931
Option 4 ID : 6789132930
Status : Answered
Chosen Option : 1
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

678913792
6789133166
6789133165
6789133168
6789133167
Not Answered
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Question ID : 678913726
Option 11D : 6789132902
Option 2 ID : 6789132901
Option 3 1D : 6789132904
Option 4 ID : 6789132903

Status : Answered
Chosen Option : 4
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Question ID : 678913712
Option 11D : 6789132848
Option 2 ID : 6789132845
Option 31D : 6789132847
Option 4 ID : 6789132846

Status : Answered
Chosen Option : 3
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Question ID : 678913785
Option 11D : 6789133138
Option 2 ID : 6789133140
Option 31D : 6789133137
Option 4 ID : 6789133139
Status : Not Answered
Chosen Option : --
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Question ID : 678913786
Option 11D : 6789133143
Option 2 ID : 6789133142
Option 31D : 6789133144
Option 4 ID : 6789133141
Status : Not Answered
Chosen Option : --
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Question ID : 678913750
Option 11D : 6789132997
Option 2 ID : 6789133000




Chosen Option :

Option 3 1D : 6789132999
Option 4 ID : 6789132998
Status : Answered
Chosen Option : 3
Q.2 The area of the base of a cone is 1441 cm? while its slant height is 13 cm. This cone is remolded to obtain a solid
6  sphere. The radius of this sphere will be
Ans a
< 1. 8Y15 cm
2
< 2 2336 cm
2
v v 180 cm
X 4 5cm
Question ID : 678913720
Option 11D : 6789132880
Option 21D : 6789132879
Option 31D : 6789132878
Option 41D : 6789132877
Status : Not Answered
Chosen Option : --
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Question ID : 678913782
Option 11D : 6789133127
Option 2 ID : 6789133125
Option 31D : 6789133128
Option 4 ID : 6789133126
Status : Not Answered
Chosen Option : --
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Question ID : 678913773
Option 11D : 6789133089
Option 2 ID : 6789133090
Option 31D : 6789133092
Option 4 ID : 6789133091
Status : Not Answered
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Question ID : 678913777
Option 11D : 6789133107
Option 2 1D : 6789133106
Option 31D : 6789133105
Option 4 ID : 6789133108
Status : Answered
Chosen Option : 4
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Question ID : 678913800
Option 11D : 6789133199
Option 2 ID : 6789133197
Option 31D : 6789133200
Option 4 1D : 6789133198
Status : Answered
Chosen Option : 1

°1'3 How many triangles are there in the following figure?

Ans x1~ 13
v 2 20
X314
X 417

Question ID : 678913752




Option 11D : 6789133006
Option 2 ID : 6789133007
Option 3 ID : 6789133005
Option 4 ID : 6789133008
Status : Answered
Chosen Option : 2
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Question ID : 678913735
Option 11D : 6789132939
Option 2 ID : 6789132937
Option 31D : 6789132940
Option 4 ID : 6789132938
Status : Answered
Chosen Option : 2
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Question ID : 678913779
Option 11D : 6789133113
Option 21D : 6789133115
Option 31D : 6789133116
Option 41D : 6789133114
Status : Not Attempted and Marked For Review
Chosen Option : --
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Chosen Option :

Ans of 1. D
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Question ID : 678913749
Option 11D : 6789132996
Option 2 ID : 6789132995
Option 3 1D : 6789132994
Option 4 ID : 6789132993
Status : Answered
Chosen Option : 1
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Ans  of 1. 3841
X 2. 2846
X 3 3672
< 4 2480
Question ID : 678913707
Option 11D : 6789132826
Option 2 ID : 6789132828
Option 31D : 6789132827
Option 4 ID : 6789132825
Status : Answered
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Question ID : 678913711




Option 11D : 6789132844
Option 2 ID : 6789132841
Option 31D : 6789132842
Option 4 ID : 6789132843
Status : Answered

Chosen Option : 4
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Question ID :
: 6789133014
: 6789133016
: 6789133015
: 6789133013
: Not Attempted and Marked For Review
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

678913754
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Question ID : 678913778
Option 11D : 6789133109
Option 21D : 6789133110
Option 31D : 6789133112
Option 41D : 6789133111
Status : Answered

Chosen Option : 4
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Question ID : 678913709

Option 11D : 6789132833
Option 2 ID : 6789132835
Option 3 1D : 6789132834




Option 4 ID : 6789132836
Status : Answered
Chosen Option : 1
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Question ID : 678913787
Option 11D : 6789133147
Option 21D : 6789133148
Option 31D : 6789133145
Option 4 ID : 6789133146
Status : Not Answered
Chosen Option : --
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Question ID : 678913798
Option 11D : 6789133192
Option 21D : 6789133190
Option 31D : 6789133191
Option 4 ID : 6789133189
Status : Not Answered
Chosen Option : --
°2'4 121 can be expressed as the sum of the first odd numbers.
Ans x 1. 9
X2 7
Vs 11
K45
Question ID : 678913702
Option 11D : 6789132805
Option 2 ID : 6789132808
Option 31D : 6789132806
Option 4 ID : 6789132807
Status : Answered
Chosen Option : 3
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Question ID : 678913713
Option 1 ID : 6789132852
Option 2 ID : 6789132851
Option 31D : 6789132850
Option 4 ID : 6789132849
Status : Answered
Chosen Option : 4
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Question ID : 678913763
Option 11D : 6789133049
Option 2 ID : 6789133051
Option 3 1D : 6789133050
Option 4 ID : 6789133052
Status : Answered
Chosen Option: 3
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Question ID : 678913791
Option 11D : 6789133163
Option 21D : 6789133162
Option 31D : 6789133161
Option 4 1D : 6789133164
Status : Not Answered
Chosen Option : --
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Ans X 1. 97 km

v 2 98 km
X 392 km
X 4 96 km
Question ID : 678913703
Option 11D : 6789132809
Option 2 ID : 6789132811
Option 31D : 6789132812
Option 4 ID : 6789132810
Status : Answered
Chosen Option : 2
Q.4 1fthe difference of the squares of the roots of the equation x> — 6x +q = 0 is 24, then find the value of q.
7
Ans “ 1. &
X2 8
X3 4
X4 —7
Question ID : 678913723
Option 11D : 6789132890
Option 2 ID : 6789132891
Option 31D : 6789132892
Option 4 ID : 6789132889
Status : Answered
Chosen Option : 1
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< 4 20,000
Question ID : 678913741
Option 11D : 6789132963
Option 2 ID : 6789132962
Option 31D : 6789132964
Option 41D : 6789132961
Status : Answered
Chosen Option : 2

Q§4 The elements in the Modern Periodic Table with the atomic numbers 38 to 71 are called:

Ans 1. Inert gases
/< 2. Halogens
&< 3. Actinoides




' 4 Lanthanoides

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

678913775

6789133100
6789133099
6789133097
6789133098

Status : Answered
Chosen Option : 4

065 An electric fuse is based on:

Ans 3¢ 1. electromagnetic induction
/< 2. the magnetic effect of current
/< 3. the cooling effect of current
« 4 the heating effect of the current

Question ID : 678913766
Option 11D : 6789133061
Option 2 ID : 6789133062
Option 31D : 6789133063
Option 4 ID : 6789133064
Status : Answered
Chosen Option : 4
Q.5 The colour of the strip when solid sodium bicarbonate is placed on a strip of pH paper.
1
Ans o 1. does not change
/< 2. turns yellow
& 3. turns blue
/< 4. turns green
Question ID : 678913771
Option 11D : 6789133081
Option 2 ID : 6789133084
Option 31D : 6789133082
Option 4 ID : 6789133083
Status : Not Answered
Chosen Option : --
Q.5 The mean of three numbers is 16, the range of the data is 12. The difference between the largest and the middle number
2  isthree times the difference between the middle number and the smallest number. The largest of the three numbers is:
Ans X122
W 2 23
X3 24
X4 21
Question ID : 678913721
Option 11D : 6789132883
Option 2 ID : 6789132882
Option 31D : 6789132881




Option 4 ID : 6789132884
Status : Not Answered
Chosen Option : --
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Question ID : 678913706
Option 1 ID : 6789132824
Option 2 ID : 6789132823
Option 31D : 6789132822
Option 4 1D : 6789132821
Status : Answered
Chosen Option: 3
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X450m

Question ID : 678913757
Option 11D : 6789133028
Option 2 ID : 6789133026
Option 31D : 6789133027
Option 4 ID : 6789133025
Status : Answered
Chosen Option : 2
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Question ID : 678913765
Option 1 ID : 6789133058
Option 2 ID : 6789133059
Option 31D : 6789133057
Option 4 ID : 6789133060
Status : Not Answered
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Question ID : 678913780
Option 11D : 6789133118
Option 2 1D : 6789133117
Option 31D : 6789133120
Option 41D : 6789133119
Status : Answered
Chosen Option : 2
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Ans X 1.170
v 2 160
< 3200
X 4190
Question ID : 678913736
Option 11D : 6789132943
Option 2 1D : 6789132942
Option 31D : 6789132941
Option 4 1D : 6789132944
Status : Answered
Chosen Option : 2
Q.5 9 cm aga A FTFER T F TAE B W F 2.25 cm? F T F T T 3R A9 e F g
(cuboid) ToTet 3 forw, ®e & @y Az @w S1er ¥ $W IR ¥ G w9 F AT cm? g
Ans X' 1. 60
v'2 54
X 3 48
X 4 57
Question ID : 678913716
Option 11D : 6789132861
Option 2 ID : 6789132863
Option 3 1D : 6789132864
Option 4 ID : 6789132862
Status : Answered
Chosen Option : 2
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Question ID : 678913714
Option 11D : 6789132854
Option 2 ID : 6789132856
Option 31D : 6789132853
Option 4 ID : 6789132855
Status : Answered
Chosen Option : 3

X118
X2 2
v': 18
x4 32
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Question ID : 678913768
Option 11D : 6789133070
Option 2 ID : 6789133069
Option 31D : 6789133071
Option 4 ID : 6789133072
Status : Answered
Chosen Option: 3

%6 Animals of which of the following classes are warm-blooded?
v 1. Aves
/< 2. Reptilia
X 3. Amphibia
X 4. Pisces

Question ID : 678913776
Option 11D : 6789133104
Option 2 ID : 6789133103
Option 3 ID : 6789133102
Option 4 ID : 6789133101
Status : Not Attempted and Marked For Review
Chosen Option : --

2  when exhausted are called:

/& 1. Solar energy

' 2. Non-renewable sources of energy

Q.6 Those sources of energy which have accumulated in nature over an extremely long time and cannot be quickly replaced




/X 3. Good sources of energy

& 4 Renewable source of energy

Question ID : 678913760
Option 11D : 6789133040
Option 2 ID : 6789133037
Option 3 ID : 6789133039
Option 4 ID : 6789133038
Status : Not Attempted and Marked For Review
Chosen Option : --

Q.6 The sales of a company in 3 areas over 5 years are given in the following table. The figures are in lakhs,
3

Area l Area 2 Area 3
Year 1 20 10 10
Year 2 40 20 25
Year 3 40 40 20
Year 4 30 30 40
Year 5 20 10 35

‘What is the percentage difference in sales from Year | to Year 57

Ans X' 1. 61.5
X 2 59
V3 625
X 4605

Question ID : 678913742
Option 1 ID : 6789132967
Option 2 ID : 6789132968
Option 31D : 6789132965
Option 4 ID : 6789132966
Status : Answered
Chosen Option : 3

% FEGER ReE W A grEgeeiie TS i Fr e g 87
Ans o 1. CaCO; + 2HCl —» CaCl, + HyO + CO;

X 2. CaCO; + 2HCl —» CaCly + HyO + Cl + O,

& 3. CaCO; + 2HCl ——» CaCly + HyCOs

& 4 CaCO; + 2HCl — CaCl + Hy + COs

Question ID : 678913761
Option 1 ID : 6789133042
Option 2 ID : 6789133044
Option 31D : 6789133041
Option 4 ID : 6789133043
Status : Not Answered
Chosen Option : -

Q.6




What is the horizontal mirror image of RISE?

RISE 34
BIZE 3514
A B & D
Ans x 1. D
X2 A
X3 B
v

Question ID : 678913755
Option 1 ID : 6789133020
Option 2 ID : 6789133017
Option 31D : 6789133018
Option 4 ID : 6789133019
Status : Answered
Chosen Option : 4

L6 Trfoftm # @ Fiawh arg ofee 79 F o 37 79 § ARl F 2
Ans x_l. c_vﬁ?‘T

K 2 FET

v o aifzes

?ﬁ.n@ﬁm

Question ID : 678913772
Option 11D : 6789133086
Option 2 ID : 6789133088
Option 31D : 6789133087
Option 4 ID : 6789133085
Status : Answered
Chosen Option: 3

Qf IfE TAILOR &r 019258 & &7 & for@m Siar &, & CUT & BT = #a1 &7

Ans X1, 321
X2 320
X 3 301
v 4 310

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

678913728
6789132911
6789132910
6789132912
6789132909
Answered

4

Q.6




%, & Yo @ T &
Ans X 1. 20 km/hr
/< 270 km/hr
< 340 km/hr
v 4 80 km/hr

8 el ¥ TEW AN 120 km, IFEEr SART 450 km AR @ WX 60 km Fr AT A7 Ay AHwEw mw o
FA A 3W 13 9T 30 Bee @ vl AR WEmd o9 (kmihr #) 9 F 3 T AR EER ® 1.5 A

Question ID : 678913715
Option 1 ID : 6789132859
Option 2 ID : 6789132857
Option 31D : 6789132860
Option 4 ID : 6789132858
Status : Answered

Chosen Option : 4

9

Ans X 1. 39.2
X 2 40
W 3 zero
X4 4

Q.6 A boy holds a school bag of 4 kg for 30 s, the amount of work done by him in joules is

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

678913774

6789133096

6789133093

6789133094

6789133095

Not Attempted and Marked For Review

0 ¥

A 1% 50,000 FUE
X 2 ¥ 10,000 =
X 3 T 5,000 FF
X 4 T 25,000 HU3

Q.7 s e 4% (RBI) o 30 S 2018 & F6id & v &7 TR & fhaer snsier & & Haer &

Question ID : 678913799
Option 11D : 6789133194
Option 2 ID : 6789133193
Option 31D : 6789133196
Option 4 ID : 6789133195
Status : Not Answered

Chosen Option : --

Q.7




fr=fef@a & ¥ #ia &1 §9g ¥ Fafod Aer 87

TREfET 9T W RE WO R T EUE e ¥ ov gaey siteas freer o9 w1 2
Ans X 1. T 3 @M@

v2T26dT
X3 T2dT
X4 T 25 am@

A e
B. T
C.7=7
D.9m=r
as X1 B
v C
X3D
X4 A
Question ID : 678913745
Option 11D : 6789132978
Option 2 ID : 6789132979
Option 31D : 6789132980
Option 4 ID : 6789132977
Status : Answered
Chosen Option : 2
Q.7 we goa @ =ar AD 3R wiT AB %1 TR AD = 34 cm 3R AB = 30 em ¥, &t 0 # Fg & AB &
2 o e i
Ans - X117 em
X2 4 cm
X315 cm
v+ 8 cm
Question ID : 678913725
Option 11D : 6789132900
Option 21D : 6789132897
Option 31D : 6789132899
Option 41D : 6789132898
Status : Answered
Chosen Option : 4
Q.7 e T EOTTEISE F9T TOAT & TNEHE a7 WO 3 &7 20% Huer "e & fow 9wl s 9w
3 o war ¥ A & i AT F el ¥ o st fr w w fEEwor S e
Ly TIfeF 3T
(7@ TH)
2012 12.5
2013 13
2014 13
2015 12.5
2016 14

Question ID : 678913743




Option 11D : 6789132971
Option 2 ID : 6789132969
Option 31D : 6789132972
Option 4 ID : 6789132970
Status : Answered

Chosen Option: 2

Ans XT ﬂﬁé’
X 2 Frerar
v Fa R

X 4. FHISHAS

W 2018 # R FEARTT FfET Fu g

Question ID : 678913790
Option 11D : 6789133157
Option 2 ID : 6789133160
Option 31D : 6789133159
Option 4 ID : 6789133158
Status : Answered

Chosen Option : 3

057 Select the most appropriate option.

Momentum has
Ans X" 1. magnitude
+ 2 magnitude and direction

/< 3. no direction

X 4 direction

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Not Attempted and Marked For Review
Chosen Option :

Status

678913756

6789133022
6789133023
6789133024
6789133021

©0© Oco |eR 9

@

A B g D
@ Ok |[en |&e©
Ans v’ 1 B
X2 A

X3 C

°é7 T g o R Hr siwen F 7 F T W FF @ e s9gFE gem?




Question ID :
1 6789132974
: 6789132973
: 6789132975
: 6789132976

Status :
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

678913744

Answered
1

%7 a@r MINT @1 3940 f3r@r o/ &, o TALE &7 #15 2

Ans X 1. 0226
< 2 0126
X 30225
v 4 0125
Question ID : 678913730
Option 11D : 6789132920
Option 2 ID : 6789132918
Option 31D : 6789132919
Option 41D : 6789132917
Status : Answered
Chosen Option : 4
Q.7 zfy T =7 v UiET 30T S & AT 34% 3 UTod T ST HERTSAT g, af 45 F ¥ 3l
8 o
Ans X 1. 15.6
V2153
X 3147
X 4149
Question ID : 678913710
Option 11D : 6789132839
Option 2 ID : 6789132840
Option 31D : 6789132837
Option 4 ID : 6789132838
Status : Answered
Chosen Option : 2

V SretaET F ¥ R{vE & 99 e

A B & D

121 2B 5E L5P
as o1 D
X2B
X3 C

X4 A




Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :

Chosen Option :

Question ID :
: 6789132988
: 6789132986
: 6789132987
: 6789132985

678913747

Answered
1

068 forafofaa & ¥ Fia-0r feeT 3y woF WY ¥ PFeas Fa=aT @i 82

L
ans of 1. C
X2 A
X<3B
X 4D
Question ID : 678913746
Option 11D : 6789132983
Option 2 ID : 6789132981
Option 3 ID : 6789132982
Option 4 ID : 6789132984
Status : Answered
Chosen Option : 1
Q.8 * i
1 ¥ & By v R s
Ans J 1. B
X 2 {Tghe FETiaAar
X 3. HgART
X 4 T
Question ID : 678913795
Option 11D : 6789133178
Option 2 1D : 6789133179
Option 31D : 6789133180
Option 4 ID : 6789133177
Status : Not Answered
Chosen Option : --

Q.8 5
2 —3[}+(96+4 ><8+16)><'7—2= 7

ans 1. 50
X2 68




4 72
Question ID : 678913708
Option 11D : 6789132829
Option 2 ID : 6789132831
Option 31D : 6789132830
Option 4 ID : 6789132832
Status : Answered
Chosen Option : 4
Q.8
s FiEr fFwer By mx By ¥ o1y Recas gaear @ar 27
woaT o
i
——
A B B D
o
| ey
B =g ||
& -
.
Ans x 1. C
v A
X3D
X 4B
Question ID : 678913748
Option 11D : 6789132991
Option 2 ID : 6789132989
Option 31D : 6789132992
Option 4 ID : 6789132990
Status : Answered
Chosen Option: 2
Q.8 2 6 9 %
4 Findthe HCFof—,—,— d— ?
4, 'I-' ’14
Ans
X1 —
140
&
X2 —
175
3
X3 —
100
3
i —
700
Question ID : 678913701
Option 1 ID : 6789132802
Option 2 ID : 6789132804
Option 3 ID : 6789132801




Option 4 ID : 6789132803
Status : Answered
Chosen Option : 4
0‘8 3 4
s W 3pd H U 91T MR ¥ HAdr el APia a=tal &7
A B C D
Ans C
2. A
3. B
4D
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 678913753
Option 11D : 6789133011
Option 2 ID : 6789133009
Option 31D : 6789133010
Option 4 ID : 6789133012
Status : Answered
Chosen Option : 1
Q.8 Fww 4 Rt & v 7 wewat whear §1 3R I IER F @A @i ¢, & 97 e gua
T Fa GieIm?
Ans
X 1. TREr, afEer
X 2 FETerEme, afEER
v 5 AR, YFAR
X 4. FER, TaE
Question ID : 678913751
Option 11D : 6789133002
Option 2 ID : 6789133004
Option 31D : 6789133003
Option 4 1D : 6789133001
Status : Answered
Chosen Option : 3

@8 The launching of a rocket is based on Newton’s:




Ans X 1. first law of motion
« 2 third law of motion
& 3. second law of motion
#< 4. first and second law of motion

Question ID : 678913759
Option 11D : 6789133033
Option 2 ID : 6789133035
Option 3 ID : 6789133034
Option 4 ID : 6789133036
Status : Answered
Chosen Option : 2
L =T F @ FF o oy e HoE I
8 Hr ! e z L
e o1 e
X 2. FTHEIE
X3 FaEer
X 4 g
Question ID : 678913797
Option 11D : 6789133186
Option 2 ID : 6789133187
Option 31D : 6789133185
Option 4 ID : 6789133188
Status : Answered
Chosen Option : 1
Qés UreEATT JAl T AT AR FEARE & TS HeFHA H G A, 7€ A drefert &
Ans x s
T €T
X 2 ghd
X 3 wUH
v o aEEaT
Question ID : 678913794
Option 11D : 6789133174
Option 21D : 6789133176
Option 31D : 6789133173
Option 4 ID : 6789133175
Status : Answered
Chosen Option : 4

Ans X 1..0.3
v 203
X33

069 IfE “+" @ A T AR ) F 4" F@AT S A ((75+60) X 5) X 10 T AT AT gem?




X0

Question ID : 678913739
Option 11D : 6789132956
Option 2 ID : 6789132955
Option 31D : 6789132954
Option 4 ID : 6789132953
Status : Answered
Chosen Option : 2

Y wdEa F T 3@ e W) gar ¥ e Ay
ans o1

X2 g

v I

X4 B

Question ID : 678913764
Option 1 ID : 6789133055
Option 2 ID : 6789133056
Option 31D : 6789133054
Option 4 ID : 6789133053
Status : Not Attempted and Marked For Review
Chosen Option : --

Q9 ardgs F B5 FER 7 TE F 2018 F Toow N TESE SEd RN # S Iaety
2 g FE

Ans ‘,1. QWW
X 2 gAEATT @A
/X 3. AMETE T
x4.ﬁ3ﬂtr§nw

Question ID : 678913789
Option 11D : 6789133154
Option 2 ID : 6789133155
Option 31D : 6789133153
Option 4 ID : 6789133156
Status : Answered
Chosen Option : 1

Qé" FYA W BN FXS q¢ a7 N S & T Fa @ aunon Fua F BT 2
FU:

F=at F 9IS T FeT F v Mg A mreud
HTROT:

. m&aﬁwmm%maquwrma
IIl. g ==t #r TEEnRT F T 8

s X 1. Faer sgumoT |l ke ¥
X 2 Faer 3FuURoT | AT &




v o gt weumond safERa #
X 4 g ofr suren Aafafea FE g

Question ID : 678913734
Option 11D : 6789132934
Option 2 ID : 6789132933
Option 31D : 6789132936
Option 4 ID : 6789132935
Status : Not Attempted and Marked For Review
Chosen Option : --

Ans !1. %
X2 6
X34
X 4 8

Qf If an element has 12 protons in the nucleus, then it belongs to group

Question ID : 678913767
Option 11D : 6789133068
Option 2 ID : 6789133066
Option 31D : 6789133067
Option 4 ID : 6789133065
Status : Answered
Chosen Option : 1

% @ & S T Amer # QU a
10, 19, 18, 27

Ans (1. 26

X2 35

X3 36

X4 37

Question ID : 678913737
Option 1 ID : 6789132946
Option 2 ID : 6789132947
Option 3 ID : 6789132945
Option 4 ID : 6789132948
Status : Answered
Chosen Option : 1

Ans x1_ Cu

V2 Cco
X 3. Cuo
X 4 CO,

Qé9 In copper oxide (CuO) and carbon monoxide (CO) reaction, the reducing agent is:

Question ID : 678913770




Option 11D : 6789133079
Option 2 ID : 6789133078
Option 31D : 6789133077
Option 4 ID : 6789133080
Status : Answered

Chosen Option : 1

Ans X1 x242x+1=0

X2 x242x—1=0
X3 x2_2x—1=0
V42 _2x+1=0

0%9 T TR x2 —2x+1=0 F¥ AT « R § ¥ & 37 TEERer FT @ § s aw of AR p2 R

Question ID
Option 1 ID

Option 3 ID
Option 4 ID
Status

1 678913722
: 6789132886
Option 21D :

6789132888

: 6789132887
: 6789132885
: Not Attempted and Marked For Review
Chosen Option :

Ans «_]ﬁa_a‘;ﬁa
X 2 TEe ffes

X3 T emEr
X 4 Fe 2T

059 farafaf@a # & froa a¥ 2017 & sy e O9 & 9@ +19 & 92 & seaiwr & faar o

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

678913781

6789133122
6789133123
6789133121
6789133124

Not Attempted and Marked For Review

Ans x1~ aﬁﬁ_ﬂ_
X2 R
X 3 HTET

v & FeT sfEa

Qé9 1958 & Feitar fhew FEleas # 5w 7 & v MW 1 w=9drs 3faH & [wen faar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

678913784

6789133134
6789133135
6789133133
6789133136




Status : Not Answered
Chosen Option : --

Q.1 A bullet of mass 12 g is fired from a rifle. The bullet takes 0.006 sec to move through its barrel and leaves it with a

00 velocity of 600 m/s. What is the force exerted on the bullet by the rifle?

Ans X' 1. 360N
< 2 900N
X 3 1000N
v 4 1200N

Question ID : 678913758
Option 11D : 6789133031
Option 2 ID : 6789133029
Option 31D : 6789133030
Option 4 ID : 6789133032
Status : Answered
Chosen Option : 4




